B4E "=

4. —ARH DB 8%

hm2-4-4

(pdf 271)L)




=ABE# cosh, sin0, tan DEICH, =ALDODE X &
E1k, XOEZRIH S.

SRR

sin 6
II tan 0 =

cos 0

ZI cos?20 + sin?0 =1

1

cos? @

EI 1+ tan?0 =




286, SE), ERE @rELELLHES

. 4
cHip Siné?:—g THdET DL,
cos?2@ +sin‘0 =1 »5,

cos 0 =
% 7=,
sin 6
tan 8 = —
cos 0
O BIREDAL S,

cos 0 = , tan@ =



RXDEL 2z FEEHE XK.
cos 0 1 —sin@ B 2
1 —sin@ cos®@  cosO
=B 3] cos@  1—sinb
= 1 —sin@® cos 0
2
— — 4572 B

cos 0




1
cos 0 + sin 0 = 5 NDEZX, cosfsinO DfEE KD L.

(2] EA5Nh/A-HXOMmEEFEHT 3L,

(cos 0 + sin 6)? = (%)2

bz (Z, cos 0 sin 0 =



SO = 2 EBBOBY

cos 0 + sin 0 :% EhBdEZE, sinbcosO =

W ZIZ, cos@, sin0 (3,
2 XHFEN

D2 ONE THh 5.




R
1
cos 0 + sin @ = 5 DEXE, cos®0 +sin® 6 DE%
» K& K.

[#8] cos®0 4 sin® 0 =






